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THREE YEAR BA. DEGREE INSTANT EXAMINATION JUNE 2019

CHOICE BASED CREDIT SYSTEM

SIXTH SEMESTER

PART—I _ Statistics (With- Maths)
Paper : DSC - APPLIED STATISTICS - 1
(w.e.f. 2017-2018) :

Max. Marks : 75

Time : 3 hours

o

SECTION - A
D0 - o
Answér any-FIVE of the following. Each quest_ions carry b marks.
3 06 R sTee Erakus. (58 (34 5 BEopen.
~ (Marks : 5x 5= 25)
Define the uses of a time series. |

o SEhe G0y, ESTTYD Bevsod.

Define various modes of time series.

crofies Fiies G, KBS HRITT R Bendod. ' ‘

Define various reasons and methods for studying seasonal variational.

sasis TOBES OEIRTDE Ko SBETeR) S8 SEBIOR Beosod.

Define the classification taste of index numbers

3070 Sowse HRLGE SPED Besdod.

Define vital statistics with uses.

& roR)g s o) DESHOD TS GDEBITO, BewSod,
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Define crude death rates in mortality.

SoUTBP LR 3008 93689 B Besod.

Define the publications of NSSO.

=3

NSSO @), BR800 desod.

8. Define the problems in the estimation of National Income.

B eIy BOSTBANEOE" o Bi5HR BeVI0s.

SECTION - B
:.")r,rh’;’:m_- &
Answer ALL question. Each question éarries 10 marks.
o) (TR SaTEBve: Erohi. (38 D 10 S8,
(Marks : 5 x10 = 50) -
UNITI
Explain the methods of moving averages to determine a tfend with merits and demerits.

53)80 DgBodtos” OB Mo SEAR oD Seferren S00H edofered’ 958008,

Or

10. Explain various components of a time series.

seeie :)éamé% ::5.:)5 oo d9580S508.
UNIT II

11. Explain Ratio to trend method to determine the seasonal variations.

Sifan TrodergeRy ERRTRS” (598 DB S8ED 9980508
Or
12.  Explain link relatives methods to find the seasonal variations.
Si8ahH TroBerH) EVATHWE’ S0 dbge SEBR 25BoBod.
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13.

14.

15.

16.

17

18.

UNIT 111
Explain time reversal test in Index numbers,

A0 VoRgeS” SACH DS B85 dsBoBod.
Or

Explain the method constructing cost of living index numbers
259 H5a% WD Boagw VoS’ D% HEBL HHBoVOL.
UNIT IV ‘

Explain the methods for measurement of population growth.

e DB KSR 996 ;’nge:&) 9580908,
Or
Explain the comp_onénts of a life table.

208 :)egge‘s‘:o eoTOR) IHBoVos.
' | UNIT V

Explain the activities of CSO and NSSO.
CSO Ho8asw NSSO S‘6§§€J"a7°0m 2580906,

Or

Explain various methods of estimating national income.

2= H0% esTPasTR) eI0DTD N ::gmom 2580906,
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THREE YEAR B.A. DEGREE (CBCS) EXAMINATION — JULY 2020
SIXTH SEMESTER
Part I — Statistics (With Mathematics)
Paper CE-1 — OPERATION RESEARCH
(Wee.f. 2017-2018)

Time : 3 hours Max. Marks : 75
PART - A
g5 - 2
Answer any FIVE questions. Each question carries 5 marks.
DI DY (IO IIErRrdBy. (9O (HHD 5 Sreten.
(Marks : 5 x 5 = 25)
1.  State the vaﬁous definitions of operations research.

SBIR% SBFEHD 93¢ B0 dEgITOD BevSod.

Define the limitations of operations research.

SBEaD 588N @Bk, BN BenSok.

to

3. Define the mathematical formulation of linear programming problem.

B Perdssen S0y B, KBS0 SZorTed Bendod.

4.  Define: (a) Variable (b) Constraints (c) Non-ne'gativity variables.
DE5D0B08E : (a) SoT°? (b) Pdee pEYoFreo (c) 200568 VeTren.

5. Explain slack and surplus variables.
260 208050 BHHeD SOTRION DEGD0NV0E.

6. Define basic solution and basic feasible solution.
e D5 5B e @K PO DEFDOVOE.

7..  Explain least cost method to find an initial basic feasible solution.

&0 esgrd w55 eGSHED EDQ Dorreg 5%93?0 9560%06.

8 Define the formulation of an assignment problem.

Ber003) By BIHERy% DEFD0DOE.

[P.T.O]



10.

11.

PART - B

A TAR A SRS IE )
Answer ALL questions. Each question carries 10 marks
Q) [HHOW DATEIOIIDIY. (99 (5% 10 S0 0-
(Marks : 5 x 10 = 50)
UNIT -1
Explain the phases and applications of operations research.
SOEAH 5859 B0, t5Een HBay BRIDYT O DHB0BOE.
Or

Explain the nature and features at operations research.

| SBEaD 85 Bk, Herdidon 2Ba &IATTPOR DB0B0E.

UNIT - 11

A paper mill produces two grades of papers namely X and Y. Because of raw material
restrictions, it cannot produce more than 400 tonnes of grade X and 300 tonnes of grade
Y in a week. There are 160 production hours per week. It requires 2 hours and 4 hours to
produce a tonne of products X and Y respectively with corresponding profits of Rs. 2,000
and Rs. 5,000 per tonne. Formulate the above as LPP to maximize profit.

28 sREH) e X, Y &5 ‘f.)géi‘ Bot Rrowe seREreR) HAITED k0B, Jé Sergre S80S9,
28 606" X fpovein 400 eiyen, Y Fowods 300 oH 0d B Jaheto Bo.
X, Y o #05r8 300608 (38 0k 8. 2,000 2080k 8. 5,000 esmroHoSt S
2, 4 Kotyo 330090 Tr08 e5380. T3 &8)88 T0°08 160 Kowe JHuaho LB, &Trahd

KBE6E% P T BPAD (Serdisdes SRRy SrBEBoS0d.

Or
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12

-

13.

14.

15.

Solve the following LPP by using graphical method :
208 BHat (Sem08ses Bo50 Bar OB SES G0 PoH0s :
Max (K82) 2= 120x+ 100y

Subject to (sSdor DG oP") :

10x+5y< 80
6x+6y<66
4x+8y =24

5x+6y< 90 and (Ho8aiw)

x, y=20.
UNIT - 111
Solve the following linear programming problem by using Simplex method :
E0B 3P (Ser08Eses S50 HoRE) 9GS To> FPobos :
Maximize (K83) z=3x, + 2x,
Subject to (es§der dEYoTEeD) :
X +xy54
x, - %, < 2 and (2H8a50)

X, %20.

-Or
Explain Big-M method of solving the linear programming problem.
BHaH (HerdEdes g 5% Big-M ;’)g@m 958oB0G.
UNIT -1V

Explain Vogel's approkimation method to obtain an IBFS.

&9 esgr w5 D SRS Gapon0 SESR 9580908,

Or
3 1-6-122A

(P.T.0]



16.

18.

Solve the following transportation problem by

B8 dorer DI Trafobg e SEA o Afowbods :

using North West Rule :

Explain Hungarian method for solving an assignment problem.

I 11 111 | Demand

(&arro&)
A 13 11 15 2000
B 17 14 12 6000
C 18 15 12 7000

Supply | 5000 | 4000 | 6000
)
UNIT-V

Eeran00) SIS0 PoBALS 5E8D 93B0B0d.

Or

Solve the following assignment problem :

1808 Sero0) BB0P50 PoDod :

N < M =
o
o

32
29
39
50

39
49
60
48

52
65
51
52
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THREE YEAR B.A. DEGREE (CBCS) EXAMINATION — JULY 2020
SIXTH SEMESTER
Part I — Statisties (With Mathematics)
Paper CE-2 — ADVANCED OPERATIONS RESEARCH
(W.ef. 2017-2018)

Time : 3 hours Max. Marks : 75

SECTION - A
DS - 2
Answer any FIVE questions. Each question carries 5 marks.
D39 D& SHOWD SITTHIN @ORB0. (3 [FH 5 6.
(Marks : 5 x 5 = 25)
1. State the principal assumpti;)ns of the sequencing problem.

eED0 SJJge B, BTN GIEHORN DVIHAW.

1o

Explain Mini Max and Maximin principle for a rectangular game.

2.5 6 DB et B, SBES’ $DH-KBRY S0BAK HBZ-50F DADDBNK0 DIBOHIN.

3.  Define a game and state the characteristics of a game.

€££3:50 PG50, TR OFETOR BLOYIW.

4. Explain the characteristics of queueing system.
£ ;5’5:65; B08), 0ZrTeb) DHB0YHW.

5. Explain Kendall’s Notations for representing queueing models.

Ky S50 9) BOAHDADEOE Hodred DHB0YHIW.

6. Define : (a) Event (b) Activity (c) Merge-Event (d) Burst — Event.
DED0BIE0 1 (a) $oe5 (b) 2§ () Koo 2 (d) HAHS 28.

7. Define : (a) Scheduling (b) Controlling.
28500550 1 (a) S¢3E<Ee (b) Daboe,

[P.T.0]



8.

10.

i

Solve the following game :
e 1308 58080 ;PoWAN :
Player A
(Lot A)

Ar A Ay As

B.(3 8 9 10

Player B Bl @ T 44
(Eas®@B) gl g -9 10 3

Bal8 9 4 5

Find an optimal sequencing of Job from the following data :
Fe 208 STOEINID LPOIEHAD ©BENIBNHO ERIR"RDB ¢

Jobs (&gamm): Lol T e 7

l\lachlneATlme(oﬁ)oLéoAmo): 10 .16 12 14 8 7 6

Machine B Time (chogo Bsreo): 5 4 13 12-8°9.4

From the following data simulate the demand for the next 30 days. Also find daily
average demand of certain product on the basis of simulated data :

Z: (208 Sosam ol BEHTS 30 Ered® 8 HNY By, EToE eREEe ok
950D o0 H08 F0°8 G0 SRORRIH :

Daily demand (8538 &3r0&): 10 20 30 40 50 60
Probability (;603-,%5@) . 0.03 0.05 0.12 0.60 0.15 0.05

SECTION - B
degrAS0 - B
Answer ONE question from each Unit. Each question carries 10 marks.
(56 0705 508 18 5 SETGHEN Eraw. 5 [FEHO 10 58, ev.
(Marks : 5 x 10 = 50)

UNIT -1
Explain processing of n-jobs on-two machines.

=330 2 - CHo@rey BEroBIS) H5B0HSE.
Or

2
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12. Find an optimal sequencing of jobs and also total elapsed time :
oPoSHab Do eENSNE EHA', T80 P8 Daberdd 5P Jwdo STeB
ES0ATH000w :

Job (a&'§o0): A B-Q D8

Machine A (cogo A): 30 20 15 10 8 7

Machine B (abopto B) : 6 5 4 26 18 22

UNIT - 11

13.  Explain Graphical method for solving the game whose 2 x n order of pay off matrix.

2 x n S BEXS SEPO BB EYS €565 AP0t T SEHD 256050

Or
14. Solve the following game :
S+ 208 estor Pododw :
| Player B
(Eass0t> B)
B: B: Bs Bs

Player A Ai[4 8 9 -3
(Bt A) A, |-8 6 -3 7

UNIT - II1
15. Find the steady state solutions of M/M/1) : (e</FIFQ) queueing model.
(M/M/1) : (/FIFO) &5 $5056° 5 ReS 5980 EHORT030.
Or

If the mean arrival rate is 3 per hour, while the service is 20 minutes per service, then
assuming that a Poisson arrival and exponential service time find :

(a) The probability of 2 units in the system and queue

16.

(b) Expected service time per unit.

3 1-6-122B
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17.

18.

19.

20.

2% 9Bc% TISE DS HUWBT BEH T 3/KowH BBAw 68 SBgo Bosernd 257,568
SOHB 20 Dres BEB08. and Bhgs TG By T SroNerd DeraER HBA

$Bg0 BBOADBED FUB gAY BN
(a) N850 TS BBAk KIS’ R GotEmdS Ko Sogragh JOB?
(b) ¥ alurdeS Bl Dabemds Hovkl sPeBoBH?

UNIT - IV

Explain Rules for drawing a Network diagram.

28 5 - 3), cairioR AaEmS dahdsreRy d5B80YHH.

Or

Explain CPM and PERT.
CPM $08a%0 PERT o0 25803300,

UNIT-V

Explain Monte-Carlo Simulation technique:

25°065-5°8" sR0Ees SEBR dHBoHIN.
Or

Explain Random generation from Poisson probability law.
Sr00eS DgrEvEN $008 A SoRge GOTES [HIEAHM 25BoYI.

4 1-6-122B
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THREE YEAR B.A. DEGREE EXAMINATION — MARCH/ APRIL 2019.
CHOICE BASED CREDIT SYSTEM

SIXTH SEMESTER

Part - I : Statistics (With Maths)
Paper : CE-3 — NUMERICAL ANALYSIS

(Revised from 2017-2018)

: 3 hours

SECTION - A
T

Answer any FIVE questions.

Each question carries 5 marks.

D3R Do (S FAFTESHve Frakosw.
58 59 5 S8, e0.

(Marks : 5 x 5 = 25)

Max. Marks : 75

Define the operators' E, A and V and also obtain the relation between them,

E, A 508000 V 585500 255008, T 50655 o 00055080 HE7,8080.

Evaluate
# A2 s Eex
(a) [E—J e’ x o

(b) A" ¢®*?, the interval of difference is unity.

B¢ woto 1 ©odS® p T30 FFosudn.

Explain Interpolation. Write its assumptions and uses.

woBdgITR 5600, B0 ADE)TER DB GSETTTOR FPaLUH.

Find out the miséing value in the following data :’

1808 &Er0808" G0N DeVHRL LoV SawHw.

x: | 1931 | 1941

1951

1961

1971

y: 17 25

30

100

12
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10.

Derive Newton's divided difference formulae.
Boegean DErE BRI mm&g:&n.
Find the first derivative of y = log, x at x =505

x =505 3¢ y = log, x GB30E; A edEeHnR ERRTRIRD.

%! 500 | 510 | 520
log, x : | 6.215 | 6.234 | 6.254

Derive the formula for trapezoidal rule.

ddowow DHBotne AITERY TPRBLE.

1 ;
3
Evaluate .['J; (1 - x) dx by using Simpson’s -:1; rule and 3 rule.
0 '.

. : 1 . 3
205y % 5985 g argro oo [Jx (1- %) dx 33780
; 0
SECTION - B
R

Answer ALL questions.k

Each question carries 10 marks.
©3) FHOW JLTPTR EECioda.
2 L:'S‘iag) 10 Sedoye0.
(Marks : 5 x 10 = 50)

UNIT1

R H0D050.

Show that nth order difference of a polynomlal of nth degree is constant and higher

differences are zero.

n % BEKS ITVHB @Y, n D NS a’sm 28 Boagpd BIHEN B IS BKE Brred

VR BYTOD.
; ? Or
Estimate the missing values in the following table :
2o :>e356‘:o grde FrBowdw. :
£ 10 . 15 20 25 | 30 35
f(x): 43 — 29 32 77

2

13
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11.

13.

i4.

5.

UNIT 11
Derive Newton-Gregory backward difference interpolation formula.
0BT Amgean ~RANE BB KD BomErRy oraeysw.
Or

Find the polynomial function f(x) given that f (0)=2, f(1)=3, f(2)=12 and f(3) = 35.
Find /(5).

JYP VDY TGO WTVIB [SDoasrEN f(&:) BV g:éoﬁ‘a £(5) Devdio ERR"H05m.
UNIT III
Derive SterIing"a;s formula for interpolatior_!.
©0B0gETRS ROOR HyeEeR) oraepdn.
; Or

Using Gauss forward interpolation formula estimate expectation of life at the age of 22.

22 BoHE0re SaDKy) T8 BB GHONBR MR HEHD ©oBBES Jur BB Lgo® SRTRBW.

“Age (So%ay): 10 1520 25 80 ¢ 85
Expectation of life: - 854 32.3 29.2 26.0 23.2 20.4
(B2 es50DB):

UNIT IV

2 .
Derive .4 and é—% by Bessel's formula.

"
dZ
BHS W@ OO % 2Bosw Ex—z 0RO TR,
Or
3 1-6-122C
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1
.

16.

17.

18.

R

2
Find gy and d——‘; when x = 57.4 for the following data.
dx dx -
2
208 STOFAVIH X = 5T.4 ©owd g-’i 2805w i“% 050 EBoR™A0E0.
x dx '
x: 55 56 57 58 |
log x : 1.7404 1.7482 1.7559 1.7634
UNIT V

Derive general quadrature formula in numerical integration.

oS SIEOSB0E® Feeser nyDE K LRI,

Compute the value of the: definite integral

show their relative efficiency.

Or
5.2 .

4

J log x dx, by any two method and hence

5.2 L5 , :
flog x dx, Barrsessn GwY, dersty JED Do SEEve To Ao WAL TR AV

ABIBHR0 BIHID.

15
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